Day 06 HW Solving Quadratic Equations by Graphing & Factoring Name:[ _
Date: Blocl{—___

1-3: Use the related graph of each equation to determine its solutions. \

1. X2+2X +3=0 2. x}-3x —10=0 3.—x’—8x—16=o
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Solutions: N? FGB«[ ,ﬁfﬂ S;)I;Jtuons %"Zi Solutions: J)(:-q (Mmtb

4-9: Solve each equation by graphing. DO NOT USE YOUR CALCULATOR!
-2 =\ x=4=1
4. x*+2x —8=0 u&,‘_q;-a—-q 5. X)—4X —5=0 e U(.- 5= 6. 3x(x-2)=0
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4= axeay - 9. 2(x-Nx+3)=0 ¥l urs

’Xz—L\»é, 2 Solutions: %:”l "‘i' 5 Solutions: X‘/_O% 2
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KEHUX G-3t6=2  (x42)? -6 =0
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Solutions: _NQVC&’{ Sofll Solutions: 'x '@ i{ 2 Solutions: XZ‘Z é‘ 1

la=4 9a=L§ sa=L. %=3.¢




10-15: Use the calculator to find the approximate roots of each quadratic equation rounded to the nearest

hundredth.

10. X2 +8x =0

Solutions: !X: ’8 ¢ O

13. —12-5X+3X>=0

Solutions: /x :”'L % é‘ 3

1. X*-3x-18=0

Solutions: O(.: ‘32‘/@

14. X>’-6x+4=-8

Solutions: i\foé&l JJ@I

12, 4x-x*+8=0

Solutions:/)(:: "( -% E5H6

15. 9—-Xx*=12

Solutions: Mo %81506’\

16- 24: Solve each quadratic equation by factoring and the Z.P.P.

16. 9a =103’

I0a*9a =0
ana—c{’) =0
19. 7y*-4y=0

22. -6X>=-26X+20
O=(xt-UX+20 %13
axz._,_] 2K +0 )03
2L o= B0
% (Ix-16) ~1 (3X-10)
2(ZX=10  X=l D=0
x=52D

17. 16xX> =49
loxZ-44 =9

(Y eDHx-1)=0
xr1=0 P10

X%Jr(oxwf: G
Ix(UE) - (43)
(4xe 2 8’20
Uy A=
X g{: ke

‘:':'2 2 X;JZ;
x & (20{ =2

23. 3x*-21X+30=0
2(x%=1x +10)=0
3 (x=9)x-1)=0

18. 4x*-35x=9 _%j—r‘/‘

W2a=0
Lh()éo—(/q T (x4)=0

C=a X4 H) " ——2
21. 8x?*—-10X=0 @
2x(dx-9)=0

=0 U520
=0 &=t

X?%;

(7-015)

24. 4x*=-20X-25
U+ 20x4+18=0
(wx+5)*=0

247 =0

sz:% )

25- 27: Write a quadratic equation, in standard form, that has the following roots.

25. {3/2,-4}

26. {-8, -6}

_ (w+8)X+0)

27. {-3/2,11/2}
Y= (¥+2) Q(w%%
= (2+7) (e

YR TXAX +3
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